9 mai 2013
Prob #04

0 OO (Probability Theory) 1 0 00O OO0

to.pamamoto

1 Jooogn
« 00000000000
« 000D000OOODOO



9 mai 2013 A

oboo Moo moobooood

good go

1.000000000000D00D
0000 x, 0000000 Fi(x)=PriX;<x]0O

(x<0)
Fix)=¢ x (0<x<1) (1
1 (1<x
X, 0000000 F,(x) = Pr(Xs <x]0
0 (x<0)
Fo(x)={ 1/2 (0<x<1/2) 2)

1 (1/2<x)
0000000, 00 X,0000000)0000 XO
Gx)=aF(0)+(-a)F2(x) 3)

obOoboooooboboboboooooboboboooo 3000000 xox;0x00000000000¢0
gooo

1-1 x;, 00000

1-1-a 00 4000000000

Pri0 <X, <1/2] = Pri0<X; <1/2]=
Ans. Pr[0<X; <1/2] = ,Pri0< X, <1/2] =

1-1-b OO E[X;]0 2000000 E[XIZ]IZIDDIZIEI

Ans. E[X]= ,E[xf]:
12 X, 00000
1-2-a 00 4000000000
Pri0 <X, <1/2] = Pri0<X,<1/2] =
Ans. Prl0<X,<1/2]= LPri0<X, <1/2] =

1-2-b 00 E[X,]0 2000000 E[X%]IZIDDIZIEI

Ans. E[X»] = JE [Xg] =

1-33 Xx00000
1-3-a 00 E(X]0 D00 VXl = E[X}|-{E[X])? 00000

Ans. E[X]= ,VIX] =

1-3-b 000000 VX]IODOOOODO «O00000D «0OODO

Ans. OO0O0O0 a= o000 a=




o0ooob0 r200b0b0b0bobo4b000000000000O0DOOODODOO sSOOoOUOooOOO

ooooooooooooooooooOo0oooDbO sooooooooo@Eoobooooobbooooooooog
gboboooooog)

oobo0ooooooooooon

0000 | #4(2013.05.09 0 0)

oooo (2013050 1300040300

oooOo (Os00300000000b00000b0000000on
gooooobooooobobooboooboon)

O 00O (ODooboobobobobobobooooboooooog

000 |obobooooboooboobobobooobo0ooboooocooo
ooooobooooobooooobooo

oboobboooobobobobbooobooooboooooooboboooooooboaoon
ooooooooon

gboo0oobDoomooomoobob bW oboobmobomoobbooooon




9 mai 2013 B

oboo Moo moobooood

good go

1.000000000000D00D
0000 x, 0000000 Fi(x)=PriX;<x]0O

(x<0)
Fix)=¢ x (0<x<]1) 4
1 (1<x
X, 0000000 Fr,(x) = PriX, <x]0
0 (x<0)
Fa(x) =<5 1/2 (0<x<1/2) (®)]

1 (1/2<x)
0000000, 00 X,0000000)0000 XO
Gx)=aF(0)+(-a)F2(x) (6)

obOoboooooboboboboooooboboboooo 3000000 xox;0x00000000000¢0
gooo

1-1 x;, 00000

1-1-a 00 4000000000

Pri0 <X, <1/2] = Pri0<X; <1/2]=
Ans. Pr[0<X; <1/2] = ,Pri0< X, <1/2] =

1-1-b OO E[X;]0 2000000 E[XIZ]IZIDDIZIEI

Ans. E[X]= ,E[xf]:
12 X, 00000
1-2-a 00 4000000000
Pri0 <X, <1/2] = Pri0<X,<1/2] =
Ans. Prl0<X,<1/2]= LPri0<X, <1/2] =

1-2-b 00 E[X,]0 2000000 E[X%]IZIDDIZIEI

Ans. E[X»] = JE [Xg] =

1-33 Xx00000
1-3-a 00 E(X]0 D00 VXl = E[X}|-{E[X])? 00000

Ans. E[X]= ,VIX] =

1-3-b 000000 VX]IODOOOODO «O00000D «0OODO

Ans. OO0O0O0 a= o000 a=




o0ooob0 r200b0b0b0bobo4b000000000000O0DOOODODOO sSOOoOUOooOOO

ooooooooooooooooooOo0oooDbO sooooooooo@Eoobooooobbooooooooog
gboboooooog)

oobo0ooooooooooon

0000 | #4(2013.05.09 0 0)

oooo (2013050 1300040300

oooOo (Os00300000000b00000b0000000on
gooooobooooobobooboooboon)

O 00O (ODooboobobobobobobooooboooooog

000 |obobooooboooboobobobooobo0ooboooocooo
ooooobooooobooooobooo

oboobboooobobobobbooobooooboooooooboboooooooboaoon
ooooooooon

gboo0oobDoomooomoobob bW oboobmobomoobbooooon




